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 Answer y =   [3] 
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 In triangle OGH, the ratio GN : NH = 3 : 1. 

 

  = g and  = h. 

 

 Find the following in terms of g and h, giving your answers in their simplest form. 

 

 (a)  

 

 

 Answer(a)   =   [1] 

 

 (b)  

 

 

 

 

 

 Answer(b)   =   [2] 
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10 The cost of a cup of tea is  t  cents. 

 

 The cost of a cup of coffee is  (t + 5)  cents. 

 

 The total cost of 7 cups of tea and 11 cups of coffee is 2215 cents. 

 

 Find the cost of one cup of tea. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer  cents [3] 

 

 

 

11 The volume of a solid varies directly as the cube of its length. 

 When the length is 3 cm, the volume is 108 cm3

. 

 

 Find the volume when the length is 5 cm. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer  cm
3

[3] 
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9 A shop is open during the following hours. 

 

 Monday to Friday Saturday Sunday 

Opening time 06 45 07 30 08 45 

Closing time 17 30 17 30 12 00 

 

 (a) Write the closing time on Saturday in the 12-hour clock time. 

 

 

 

 Answer(a)   [1] 

 

 (b) Calculate the total number of hours the shop is open in one week. 

 

 

 

 

 

 

 

 Answer(b)  h [2] 

 

 

 

10 Solve the equation 4x O 12 = 2(11 – 3x). 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer x =   [3] 

 

 


